@ -1la @ -Ta ® -b5a

V4a? — V942 = 2a — 3a = —a
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b T gL AguAe] BE BA
o Zol o] g2 Fatolet.

D 12V3 @ 2443 @32\/3
@ 36V3 O 423

BA 2o Zdolo g2
= V3x4+ V2T x4+ (V3+ V27) x4

= 4V34+4V27T + 4V3 + 427
=8V3+12V3+12V3

=323




4. 5- B AHAFRESa, 25 FRE L HL D W, 2a-b O] TS

T5HH?
D 1+2V3 @ 3+ V3 @4+«/§
@ 5+ V3 ® 3+2V3

2<-VY3<-10]113<5-V3<40/BR
“a=3,b=5-V3-3=2-13
L 2a-b=2x3-(2-V3)=6-2+V3=4+3




oS 4] 4a? + 0 + 962 o] FAAFA] HEE ool gdut
TE2HY

D +6ab @ 6ab @ —6ab
@ilZab ® 12ab

(2a + 3b)* = 4a? + 12ab + 9b?




6.

832 - 10xy - 122 2 Q1523 B 1, 91521 L D=7

©4x+3y @ x-y ® x+2y

@ 2x+ 4y ® 4x-3y

8x? — 10xy — 12y? = 2(4x2 — 5xy — 6y?)
= 2(x—2y)(4x + 3y)




ot & A4Eat AR e

@® 323+ x2—x=x(3x> +x-1)
@ -x*+25=(5+x)(5-x)

@ x> +8x+12=(x+2)(x+6)
@36x2+24xy+4y2:(6x—2y)2

® 6x2+5x+1=(2x+1)(3x+1)

@ 36x2 + 24xy + 4y? = 4(9x? + 6xy + ¥?)
=4(3x +y)°




the Bl AFEE T8 A F UEA YL AL BE DLW

@ 49 & S AlET - -7
O 19 AT -1

© V4o AFT - +2
@ (-5)? o A& - +5

va0 266 Govoe ®©oce 6e6e

©1 9 AFE - £1
© VA AFTZL -2 AlFE - £V2




9. a<04¥9H, \/(-6a)? = tHs]| o}H?

D -36a> @_ﬁa ® 6a
@ 6a* ® 36a>

~6a >0 ©|BE \/(=6a)% = -6a




10. <1, D2 - /- 1)? & ko) shu?

© 2 @ -2 ® x+2 @ -2x ®)2x

x<1olBE2 -1<x<1
x+1>0,x—1<00°|2=2
VE+1)Z- /x-1)2 =x+1+x-1=2x
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@ 6 @ 8 ® vio @2vi0  © 3vi0

DABCD 9] Hol& (2 A Hel)- (A2 vl 7€) Hele
)
OABCD 9] Yol 16 — 4 x

. DABCD 2] g §12] Zo]& V10 o]t
AP=AB=AD = AQ= VI0

AP E2 B VI0 B 2 5ol ti-85He Heloh. P(2+ VIO)
A QE2HTh VIO B F-2 5of tf-3-ate Holth.Q(2- VIO)
. PQ= (24 V10) - (2~ V10) = 2V10




12. «x

VB VT VB-E

@ V2

B

S «/§+\/§+\/§—«/5:2;/§:

2 YT T F

o, (x4 y)(x—y) & #2?

@vi @ @2

® 36

V3

2

_ VB4 V2-(VB- D)
2

() (x-y) = VBx V2=

:2;/5:\/5
V6




o3 2= AlETR9] dRolt, o2 5 Fol%l BE o]8sto] +&
T gle A2
Tl 0 1 2 3
1.5 1.225 1.229 1.233 1.237
1.6 1.265 1.269 1.273 1.277
1.7 1.304 1.308 1.311 1.315
1.8 1.342 1.345 1.349 1.353
1.9 | 1.378 | 1.382 | 1.386 | 1.389
D V162 @ +0.0192 ® 17200
@ 180 @«/0.00152

~&B ~

@® V162 = V1.62x 100 = 10V1.62 = 10 X 1.273 = 12.73
/1.92 V1.92
Vv0.0192 = {/ — = ——— = 0.1
@ +0.019 100 10 0.1386
® V17200 = V1.72 x 10* = 100 V1.72 = 131.1
@ V180 = V1.80 x 102 = 10V1.80 = 13.42

15.2 V15.2
® +0.00152 = \/—10000 TN




14. AFTEANA V30 = 5477 € W, va = 0.05477 = W5t a 9
= otH?

@ 3000 @ 300 ® 3 @ 0.3 @0.003

B ‘

1 30
0.05477 = 5.477 x — = Y3V
* 100 ~ 100

/ 1
= 1/30 x
10000




15. o4 4(p +q)* -4(p + q)p + p* & LFEdHSte] HEs] HERH

2
@ (p+aq)° @ (p+ 20’ ® (2p+4q)°
@ (p-q)° ® (p-29)°

B ~
p+q=1t2 X2sIH
4p+q)° -4(p+qp+p° =4 —41p + p?
= (2t- p)®
= (p+29)°




